Name: ________________________________Teacher:_________ Date:_________

6th Grade Science Benchmark Assessment

1. VII.1.B.b  Danisha needs to measure 50 grams of baking soda for an experiment.  Which measuring device will most accurately measure  50 grams? (1 point)
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a) metric ruler
b) thermometer
c) balance or scale
d) graduated cylinder
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2. VII.1.B.d What is the length (in millimeters) of this screw? (1 point)
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a) 4.5 mm



c) 3.5mm


b) 45 mm



d) 50 mm

3. III.1.E.b  Which of the following is an unicellular organism? (1 point)
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a) amoeba


b) puppy

c) plant
d) ant
4.  III.2.B.c  What gas do cells use to convert sugar (food)  into energy during cellular respiration? (1 point)

a) carbon dioxide

b) oxygen

c) nitrogen

d) argon

5. III.2.B.b  Which of the following is NOT needed for photosynthesis to occur? (1 point)

a) carbon dioxide

b) sunlight

c) water

d) oxygen
6. III.2.A.a  Which of the following cell structures is found in plant cells but NOT in animal cells? (1 point)

a) cell membrane

b) nucleus

c) chloroplast

d)cytoplasm


7. III.1.C.a   The smallest living organism is a/an__________________. (1 point)

a) atom

b) cell


c) gnat


d) baby
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8.  III.1.A.a   Which characteristic of life does the diagram show? (1 point)

a) homeostasis

c) growth and development
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b) organization

d) response to stimuli

9. IV.1.B.a  Which two organisms are competing for the same food source? (1 point)

a) owl and shrew



c) woodmouse and bank vole

b) weasel and shrew



d) bank vole and acorn

10. IV.2.A.b Which of the following groups are producers? (1 point)

a) woodmouse and bank vole


b) oak leaf and leaf litter

c) greenfly and woodlouse


d) acorn and woodmouse
11. III.3.A.d  Which of the following identifies the order of reproduction in flowering plants? (1 point)
a) Seed production -> pollination -> fertilization
b)  Pollination -> fertilization -> seed production
d)  Fertilization   ->  pollination -> seed production

12.  III.3.C.a. Which of the following is a characteristic of a chromosome? (1 point)


a)  Chromosomes occur in pairs and carry hereditary information in genes.


b)  Chromosomes only occur in humans.
              
c)  Chromosomes in the offspring come only from the dominant parent.



d)  Chromosomes are found only in egg cells.
13. IV.3.C.b  What is an adaptation? (1 point)

a) a body part that has lost its original function through evolution.


b) a characteristic that better equips an organism to survive in its environment


c) a feature that appears briefly during early development


d) a slight difference among the individuals in a species

14.  III.2.C.c  Trace the path of nutrients from the digestive to the circulatory system? (1 point)




 a)  mouth -> stomach -> esophagus -> small intestine -> large intestine -> blood stream


                            b)  mouth -> esophagus -> stomach -> small intestine -> blood stream -> cells
           



c)  mouth -> esophagus -> stomach -> blood stream -> small intestine -> cells


                           d)  mouth -> esophagus -> small intestine -> cells -> stomach -> bloodstream

15.  III.2.F.a Ariel was outside without a jacket playing in the snow, which of the following is a mechanism that her body can use to maintain homeostasis (internal temperature).  (1 point)

a)  shivering

b)  sweating        c)  adrenaline rush
d) put on a jacket

 16.  III.2.G.c  Which of the following diseases is a noninfectious disease? (1 point)
 a)  AIDs

b) Common cold            c)  Influenza
  d) Cancer
               17.  III.2.C.e. The circulatory system is important to cells because it__________________. (1 point)




a)   transports   nutrients to the cells and wastes to the cells





b)   transports  nutrients out of the cells and wastes to the cells


 
 

c)   transports  nutrients to the cells and wastes out of the cells






d)  transports  nutrients out of the cells and wastes out of the cells

          18. III.2.G.d Which of the following is the best  prevention for the flu? (1 point)


    

  a)  vaccine

    
          
     b) antibiotics


                 
  c)  Vitamin C



    d) chicken soup

19.  III.3.A.b  Which is not an example of asexual reproduction.  (1 point)
a)  budding
  b) cloning
c) fertilization
d) binary fission

III.3.C.b and c; III.3.D.a and b Matching:  Match the types of reproduction with their characteristics. 
A) Asexual



B) Sexual
A    20. Production of offspring from one parent (1 point)
B    21.  Offspring are a combination of both parents (1 point)
A   22. Offspring is identical to parent (1 point)
B   23. Production of offspring from union of egg and sperm (1 point)
Wolf Watch Performance Event          Yellowstone Gray Wolf Pack Size


January 2000

Large numbers of gray wolves lived in Yellowstone National Park at one time.  But in the early 1900s, gray wolves disappeared from Yellowstone completely.  In the mid-1990s, 31 wolves were reintroduced to the park.  
	Wolf Pack Name
	Total number of introduced wolves

in 1998
	Total number of observed wolves in 1999
	Total number of observed wolves in 2000
	Change in number of wolves over a 3-yr period

	Rose Creek
	12
	14
	16
	4

	Leopold
	7
	10
	12
	

	Crystal Creek
	10
	12
	13
	3

	Washakie
	2
	1
	2
	0


The table above shows the observed number for the years 1998, 1999, and 2000.  Based on this data, answer the questions below:
1.  Complete the table by calculating the change in  number of wolves for the Leopold pack. (show your work)    (1 point)
    5
       12-7 = 5
2. VII.1.B.g Calculate the average change in number of wolves for the 4 packs from 1998 to 2000. (show your work)      (1 point)   
   3
 4 + 5 + 3 + 0 = 12     12/4 = 3
3.  VII.1.C.a In general, over the three-year period, is the wolf pack in Yellowstone increasing, stable or decreasing?   Explain how you came to that conclusion.  (2 points)
1 point for increasing. 
1 point for an explanation.  Explanation must reference data in table.
4.  VII.1.D.a Complete a bar graph below showing the change in numbers of wolves in the packs.  Be sure to provide: (4 points; 1 point for each category.)


a.  an appropriate title



b.  a label for each axis with appropriate units



c.  an appropriate number scale and category labels


            d.  correctly plotted data
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5. VII.1.C.b  Based on the three years shown, would you expect to see more, less, or the same number  of wolves observed in 2001?  Explain your answer. (2 points)
     
1 point for  more, 
1 point for citing data of growth in number of wolves 

In 2001 there was a long drought in the Yellowstone area, which greatly reduced the food supply available for rabbits and other small mammals.  Thus, the rabbit population decreased considerably compared to 2000.  

6.VII. 1.A.a Write a testable question for researchers to investigate, to determine what effect this might have on the wolf populations in the Yellowstone area.  (1 point)
Question must clearly state independent and dependent variable. Cause and Effect

Example:  How does the drought or reduced food supply effect the number of wolves?

7.  IV.1.B.c Based on what you know about wolves, write a reasonable hypothesis for the  investigation.  (1 point)
Hypothesis must predict how the stated IV will affect the DV

Example: If there is a drought then the food supply will be reduced and the number of wolves will decrease. 
8.  IV.1.B.b, VII.1.A.b What will be the independent variable (cause)?  (1 point)
Drought or less rabbits(reduced food supply

9.  IV.1.B.b, VII.1.A.b What will be the dependent variable (effect)? (1 point)
Number of wolves
10. IV.1.B.b, VII.1.A.b What is one condition to be held constant in the investigation? (1 point)
      Location, human interaction, any reasonable answer.  


